Secondary Math II: Final Review 2019

Name

V\e\//

Period

1. Simplify:
(9t? + 4t- 6) — (t? — 2t +4)
Ga%+ui-b - * 42t -4

2. Simplify:
3x(4x? — 2x — 5)

information.
Circle: Center (3,-2), Radius = 4

a) (x+3)2+ (y+2)2=16
() &-3)2+ (y+2)2=16
c) (x-3)2+(y-2)’=8
d) (x+3)2+ (y-2)2=16

(A j{ﬂ { Yt “Aﬁ to

a 12X 2~ (ox “~ 15X
Bt bt -0
3.  Multiply: 4. Multipy:
(x+ 3)(x— 5) (x — 6)?
X*-2x-15 X7 %43k
5. Simplify: 6. Simplify:{ (i _)
7x~° ~5i(7 + 3i) T e =)
i ' 5 - 554 ro/
e ~25( -/5]* ,¥ j
X et
7. Simplify: 8. Simplify:
(5x)2 m15 lo
28
25X m? r
9. Simplify: 10. Simplify:
@225 gy (3d%)*
.0
3id
11. Simplify: 12. Simplify:
16x2y° N (m?>+4m- 6) + (3m3 - 2m + 10)
le X 2 amt 42 44
13. Choose an equation that fits the given 14. Choose an equation that fits the given

information.

Absolute Value: a
a) y=2|x—4|+2
b) y=-2|x—4|-2

@D —2lx + 4| + 2

d) y=2|x+4|+2

—2, Vertex (—4, 2)
3:"2\ xw} 42

15. Choose an equation that fits the given
information.
Parabola: a = 3, Vertex (0,1)

C@'ﬂx“l %:B(X—oﬁlﬂ
b) y=(x-3)?+1 .
) y=3x2-1 \.ﬁﬂ 3)4”*\

d y=(x+3)?+1

16. If 2 A and £B are a linear pair and the
msA=(13x+2)°andm 2B = (11x — 4)°

what is the value of x?
\BX'FZ’!"'\ P! -*]8‘() A[ >

2UY -2 = 180°
24 \2 2

-

Xz 7.l




CTATED

17.  Solve the following system. % , 18. Solve the following system
y=x*+2x+7 (bX43= X +2¥+ ] 5 + 4y = —12 X+ = ~\2
y=6x+3 0= %2 Uy +Y B=Zf = =8 X -4 : =~
0= x-22(X"2) Tx=-28%
rd ~ \“ - - L(%
AR=2
-~ \*‘ ,’/ § \'\,
A, / C % y &/
19. Factor: 20. What is the vertex of the function
x% 4+ 4x —12 y=x2-67

(0,-0)

the transformation to create
gx) = (x=2)*-7.

< \ O Y\ + PR

—

Ao LN |/

21. Solve: 22. What are the x-intercepts of the function
2x2+5x—-7=0 y =x%+411x — 267
, N L
(2xUX=1)=0 iﬁftﬂél ﬂy 2)
Yz -1 \ A= - ) -
A 5
(-13,0) (2,0)
23. Factor 24. Write the equation of the axis of
x?—36 symmetry for the functiony = —x2 + 6x — 8?
L / ,
C X4 el ) X=-X. —_— 2
o < J X 0 / ‘;{Q ‘;:) ( (\/
25. Given the parent function f(x) = x%. Name | 26. Slmphfy (4 3i)(7 — 6i)

3 €A e LY Ve R
28- 241 - 2\\ + 18}
- f s
b) 19 it b5 ; o
't/ | é 31{ ™\ - ,fm %

27. Which function models the graph?

\

-~

Y

y=((x+4)?*+2

=(x+2)2+4

=GE-97+2) )
(x—4)2—2 2
| X
i ¥

N

(4, 2)

28. Solve for x:




29. Solve:
x% - 6x = —15
X%-b X415 =0

v
)ﬂ-"’”"" zuﬂx

Xz (, * : —_ _ -+ | "
0 —~ \J ;Lf = (?_ %J\J‘__ ~$5i ! rﬂb |
o] >

30. Solve:
2x2+4x—-7=0
X =z =4+ \J lo -4

Use the graph of the function f(x) to answer the
following questions.

31. f(2)=?7 —Y

32. Findxwhen f(x) =0

XZ7x, |

y

3

For question 31 and 32:
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33. Given [_J ABCD.
If £ACB = (7x — 23)°and 2CAD = (3x + 9)°,
solve for x.

34. Solve for x:

7>(,‘123:;§3>f+t:§ A B X = 158

Li 2N -

“MX =32 = 22.

X=22.b (2x +7)°
X=g
D C
35. Line m and # are parallel. Which statement is
false?
¢z 1land £ 2 are a linear pair P 1 \2
¢ 1and £ 8 are alternating exterior angles - - -m
£ 4 and £ 6 are consecutive interior angles
{2 3 and 2 5 are vertical angles S & i g

None are false




36. A building casts a shadow 50 m long. At the
same time, a pole 8 meters high casts a shadow 18
m long. What is the height of the building?

X =g

37. Thesides of a triangle are 5, 12, and 13.
Find the length of the longest side of a similar
triangle whose shortest side is 10.

N Py
) T‘o:l

X ; \
8 S! [Bx 2 =00
35 15 X=22.20n0 2 =12 X=26
o A
38. Find the value of CosB. 39. Solve for x.
A a 30
zosB:@g— x*+30" =42
21 "z R
426 A x o
C B Salag
5 Y= 126 = 29.4
40. Solve for 6. Round to the nearest degree. 41. Solve for x.
SNe= 1% oz 5% M
2| X
12 21 14 ]
! (2 xo= 4 S x
e\ B
0 Coss
- o
& = Dkt
SRl Xz A3 7

42. From the top of a lighthouse 210 ft high, the
angle of depression to a boat is 27°. Find the

G gD

e ]

*

4oy 277

20

P ]

wn D
Ao el

A=

distance from the boat to the foot of the lighthouse.

43. Atapoint on the ground 50 ft. from the
foot of a tree, the angle of elevation to the top of
the tree is 53°. Find the height of the tree.

Xz Hi12.15 £4
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44, Solve for x.

45. Solve for x. K

D
167 ° \az° /\
L
167°
F X

46. Solve the proportion 1705 = %3 ) 47. Solve for x.

2 * g QX +RYT LY X-B

lOX +302 X-Y4D
X 4o Y-8
ax = -1 =2
X = 35

X="1

-
.

48. Given AABC where A(2, -3), B(-11, -4),
C(5,2), Find B".
Translation: (x,y) = (x + 2,y + 1)

Dilation: (x,y) — Gx.g)’)
0N SRTETAN ot Yoy ™~
G~y -4 ,f;'(qu)«»'fg) 2 (“5,*‘3)

P ki

T e et

49. Factor Completely: 16x2 — 4x

Hx (4 x-1)

50. Solve for x. All lines that appear to be tangent

ANz

51. Solve for x. All lines that appear to be tangent
are.

52. A parabolic arch bridge is modeled by the
equation

y = —.15x(x — 45).

How wide is the base of the arch?

us wnits




